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* Honors Algebra 3-4 Name: Ké‘ﬁ

Ch 1 Review worksheet ‘ Period:

{ _#1. Which sets of ordered pairs represent a function from A to B. Give reasons for your answers,

C

4={10,20,30,40} and B={0,2,4,6}

(a) {(203(40,0).020,63.(30.2)) /wg f" with s ifygle- ot
(b) {(10,4),(20,4),(30,4),(40,4)} “{e.
(©) {(40,0),(30,2),(20,4),(10,6)} &~

(d) {(20 2) 10 0) (40 4)} ﬁ;"} ﬁcfﬁﬂ £ !fwk o B f?@“‘?
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#2. Determine if each equation represents y as a function of x.

@ 16x-y" =0 m»s»wfmm] - O yi=x Ak {
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#3. Given f(x)=x*+1, Find:
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#4. Determine the domain of each function.

(a)f(x) (x—1)(x+2) (b)f_(x)=\/25~~~»x2 (c)g(s)=% |

35—9
oV P R R L= : ey
ZML cens | e e 259 #0

Mﬂﬁa PSR vy e
}{fé@ﬁg s ng e
=¥ [2Z

#5. A company produces a product for WhJCh the variable cost is $5.35 per unit and thefixed costs are $16,000.
The company sells the product for $8.20 and can sell all that is produces.

(a) Find the total cost as a function of x, the number of units produced.

(b) Find the profit as a function of x.

(Q)LSC@ = 530X -é"‘f's%@ckag

b =Salps —eekt

(gjﬁ? fg{frt - { ¢ iy

{«?{m.ﬁ-f ggé%f mém B3 uAE Y
fﬁ‘%}w P ”’&é,&;}&ﬂ”’n‘fﬁégg

3 i@i%’} oo @géﬁf%f&w}i‘?@@@w .

e e T




- #6. Find the domain and range of each function.

(b) i(x) =36 -x* S

(a)f(x) 3-2x’ '
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#7. Graph each with a calculator and use the vertical line tost to determine whether y is a function of x.

Vi fﬁ = "Jl,i':;j}?[;@

#8. For each function, détermine the open intervals over which the flincti'on is increasing, decreasing, ot
constant.
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#9. For each ﬁlnc"gibn',.use a graphing calculator to approximate (to two decimal places) any relative minimum

or maxinwum values.

(b) h(x)=4x"—-x* }‘ﬁ%“” {j #‘Z@:}
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111, Deiermine whether the function is even, odd, or nelther
sy [ .
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#12. Identify the common function, describe the transformation(s) to the
graph shown. Then write the equation for the graphed function:

(oot +2)

#13. Sketch tﬁe'graphs of the following functions:
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#14. Given f(x)=3-2x, g(x)= Jx, and h(x) =3x"+2 find each of the following;

(@ (f-)@) =lo-5l0  ® (M) < 8H-h) © (hog)(7) =hlal (#))
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#15. Find the inverse of each function. Then verlfy that 1 ( 1 (x)) =x and [ ( f (x)) =X

@ f(x)=6x «C{?_’Z D Y sweng D A (k)

6y Xy (69 g =x—7 (B (xDE
;f {?ﬁf@ - é( (9) & ¥ = “;g“‘““:’? P X

#16. Find the-inverss ofeich furiction. On your calculator, graph both f and ' on the same viewing
window, and verify graphically that the functions are inverses.

() f(x)="x+1

#17. Find the inverse of each function algebraically.
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Honers Algebra 3-4 B _ Name:

Ch 1 Review worksheet _ Period:

#1. Which sets of ordered pairs represent a function from A to B. Give reasons for your answers.

4={10,20,30,40} and B ={0,2,4,6}

(a) {(20,4},(40,0),(20,6),(30,2)}

() {(10,4),(20,4),(30,4),(40,4)}
(© {(40,0),(30,2),(20,4),(10,6)}
(@ {(20,2), (10 0),(40,4)}

#2. Determine if each equation represents y as a function of x.

(@) 16x-y* =0 () y=+I-%

3. Given FOy=x+1, Find: |
@ 1(2) () £(-4) © 1(#) @ ~f(x)

#4. Determine the domain of each ﬁmcﬁon_.

@ f(x)=(x~1)(x+2) (®) £ (x)=25-x © g(s):_i%

#5. A company produces a product for which the variable cost is $5.35 per unit and the fixed costs are $16,000.
The company sells the product for $8.20 and can sell all that is produces.

(a) Find the total cost as a function of x, the number of units produced.

(b) Find the profit as a function of x. ' S -




#6. Find the domain and range of each function.

@ f(x)=3-2x" (b) h(x): V36—

#7. Graph each with a calculator and use the vertical line test to determine whether y is a function of x.

x2 4+ 3x

p (b) 3x+3* =2

(@) y=

~ #8. For each function, determine the open intervals over which the function is increasing, decreasing, or
constant,

G)- f(x) =x’ -—?;l'x. : - | (b) f(x)=xvx—-6

© #9. For each function, use a graphing calculator to approximate (to two decimal places) any relative minimum
~ or maximum values.

@ f(x)= (3;2 —4:4)2 (b) h(x)=4x" —x*

#10. Sketch the graph of the pieoevziée-deﬁhed f\mcﬁon by hand.

3x+5, x<0

f(x):{x—z;, %20
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#11. Deterrnine Wh’eﬁﬂef'the function is even, odd, or nejther.

#12. Identify the common function, describe the transformation(s) to the
graph shown. Then write the equation for the graphed function:

#13. Sketch the graphs of the following functions:

@ E=xs
) fx)=(x-1)+7

(c) f(x)=\/;——5

@) f(x)=7+|x]

@ f(x)=—x+d-3

(2) f(x) =-2x* +3

) f(x)= —%|x|+9
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#14. Given f(x)=3-2x, g(x)=+x, and h(x)=3x"+2 find each of the following:

@ (f-g)(4) ) ()(1) () (hog)(7)

#15. Find the inverse of each function. Then verify that £ ( bl (x)) =x and f7(f (x)) =X

@ /(x)=6x W) (E)=x-7

#16. Find the inverse of each function. On your calculator, graph both f and 7' on the same viewing
window, and verify graphically that the functions are inverses.

(a) f(x):%x—B (b) f(x)=~x+1

#17. Find the inverse of each function algebraically.

(a) f(x)=iic2_ () f(x)=4x>-3 © f(x)=+x+10




